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Bachelor of Commerce (B.Com. - Digital)
Semester - 11

Business Law
Time Allowed: 3 Hours Max. Marks: 70

Instructions for the Students

1. Attempt any 2 questions out of 4 from Section— A (Each question carries 10 marks)
2. Attempt any 2 questions out of 4 from Section — B (Each question carries 10 marks)
3. Attempt any 10 questions out of 15 from Section — C (Each question carries 03 marks)

Section - A 2*10=20

Q1. Discuss the meaning and essentials of a valid contract under the Indian Contract Act,1872.

Q2. What is 'Breach of Contract’? What remedies are available to an aggrieved party for the breach of a
contract?

Q3. What is contract of Agency? Give salient features of contract of Agency.

Q4. What do you mean by Contract of Sale? Explain different types of Contracts of Sale.

Section - B 2*%10=20

QS. What is Registration of firm? Give procedure of Registration. Give consequences of non-registration of
the firm.

Q6. Give the contents of Partnership Deed. What rules are applicable in absence of Partnership Deed?

Q7. Distinguish between LLP and Partnership Firm.

Q8. What are Negotiable Instruments? Give characteristics of Negotiable Instruments.

Section - C 10*3=30
Q9. Short Answer Questions (Attempt any 10 questions)

a) Consideration

b) Anticipatory breach

¢) Principal Debtor

d) Warranty

e) Auction

f) Sleeping or Dormant Partner
g) LLP AGREEMENT

h) Dissolution of Partnership

1) Implied Authority of Partner
j) Designated Partner Identification Number (DPIN)
k) Bill of Exchange

1) Bearer Instrument

m)Ante Dated Cheque

n) Negotiation by Delivery

0) Special or Full Endorsement
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